

# Null Spaces of Powers of an Operator

Undergraduate Texts in Mathematics

UTM

Sheldon Axler


## Linear Algebra Done Right

*Third Edition*

*Apollonius's Identity*

$$a^2 + b^2 = \frac{1}{2}c^2 + 2d^2$$



 Springer

# Notation

- $\mathbf{F}$  denotes either  $\mathbf{R}$  or  $\mathbf{C}$ .
- $V$  denotes a finite-dimensional nonzero vector space over  $\mathbf{F}$ .

## ***Sequence of increasing null spaces***

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

Proof Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

**Proof** Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

**Hence**

$$T^{k+1} v = T(T^k v)$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots$$

**Proof** Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

Hence

$$\begin{aligned} T^{k+1} v &= T(T^k v) \\ &= T(0) \end{aligned}$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

**Proof** Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

Hence

$$\begin{aligned} T^{k+1} v &= T(T^k v) \\ &= T(0) \\ &= 0. \end{aligned}$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

**Proof** Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

Hence

$$\begin{aligned} T^{k+1} v &= T(T^k v) \\ &= T(0) \\ &= 0. \end{aligned}$$

Thus  $v \in \text{null } T^{k+1}$ .



# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

**Proof** Suppose  $k$  is a nonnegative integer and  $v \in \text{null } T^k$ . Then

$$T^k v = 0.$$

Hence

$$\begin{aligned} T^{k+1} v &= T(T^k v) \\ &= T(0) \\ &= 0. \end{aligned}$$

Thus  $v \in \text{null } T^{k+1}$ . Hence  $\text{null } T^k \subset \text{null } T^{k+1}$ , as desired. ■

## ***Sequence of increasing null spaces***

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

# Sequence of Null Spaces

## ***Sequence of increasing null spaces***

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## ***Equality in the sequence of null spaces***

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1} .$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1}.$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1} .$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ .

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1}.$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ . Then

$$T^{m+1}(T^k v) = T^{m+k+1} v$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1} .$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ . Then

$$\begin{aligned} T^{m+1}(T^k v) &= T^{m+k+1} v \\ &= 0. \end{aligned}$$



# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1}.$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ . Then

$$\begin{aligned} T^{m+1}(T^k v) &= T^{m+k+1} v \\ &= 0. \end{aligned}$$

Hence

$$T^k v \in \text{null } T^{m+1} = \text{null } T^m.$$

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1}.$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ . Then

$$\begin{aligned} T^{m+1}(T^k v) &= T^{m+k+1} v \\ &= 0. \end{aligned}$$

Hence

$$T^k v \in \text{null } T^{m+1} = \text{null } T^m.$$

Thus

$$T^{m+k} v = T^m(T^k v) = 0,$$

which means that  $v \in \text{null } T^{m+k}$ .

# Sequence of Null Spaces

## *Sequence of increasing null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Then

$$\{0\} = \text{null } T^0 \subset \text{null } T^1 \subset \cdots \subset \text{null } T^k \subset \text{null } T^{k+1} \subset \cdots .$$

## *Equality in the sequence of null spaces*

Suppose  $T \in \mathcal{L}(V)$ . Suppose  $m$  is a nonnegative integer such that  $\text{null } T^m = \text{null } T^{m+1}$ . Then

$$\text{null } T^m = \text{null } T^{m+1} = \text{null } T^{m+2} = \text{null } T^{m+3} = \cdots .$$

**Proof** Let  $k$  be a positive integer. We want to prove that

$$\text{null } T^{m+k} = \text{null } T^{m+k+1} .$$

We already know that  $\text{null } T^{m+k} \subset \text{null } T^{m+k+1}$ .

To prove the inclusion in the other direction, suppose  $v \in \text{null } T^{m+k+1}$ . Then

$$\begin{aligned} T^{m+1}(T^k v) &= T^{m+k+1} v \\ &= 0. \end{aligned}$$

Hence

$$T^k v \in \text{null } T^{m+1} = \text{null } T^m .$$

Thus

$$T^{m+k} v = T^m(T^k v) = 0,$$

which means that

$v \in \text{null } T^{m+k}$ . **This implies that  $\text{null } T^{m+k+1} \subset \text{null } T^{m+k}$ , completing the proof. ■**

# Null Spaces Stop Growing

## ***Null spaces stop growing***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$\text{null } T^n = \text{null } T^{n+1} = \text{null } T^{n+2} = \dots$$

# Null Spaces Stop Growing

## *Null spaces stop growing*

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$\text{null } T^n = \text{null } T^{n+1} = \text{null } T^{n+2} = \dots$$

**Proof** We need only prove that  
 $\text{null } T^n = \text{null } T^{n+1}$ .

# Null Spaces Stop Growing

## *Null spaces stop growing*

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$\text{null } T^n = \text{null } T^{n+1} = \text{null } T^{n+2} = \dots$$

**Proof** We need only prove that  $\text{null } T^n = \text{null } T^{n+1}$ . **Suppose this is not true.**

**Then**

$$\{0\} = \text{null } T^0 \subsetneq \text{null } T^1 \subsetneq \dots \subsetneq \text{null } T^n \subsetneq \text{null } T^{n+1},$$

# Null Spaces Stop Growing

## *Null spaces stop growing*

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$\text{null } T^n = \text{null } T^{n+1} = \text{null } T^{n+2} = \dots$$

**Proof** We need only prove that  $\text{null } T^n = \text{null } T^{n+1}$ . Suppose this is not true. Then

$$\{0\} = \text{null } T^0 \subsetneq \text{null } T^1 \subsetneq \dots \subsetneq \text{null } T^n \subsetneq \text{null } T^{n+1},$$

At each of the strict inclusions in the chain above, the dimension increases by at least 1.

# Null Spaces Stop Growing

## *Null spaces stop growing*

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$\text{null } T^n = \text{null } T^{n+1} = \text{null } T^{n+2} = \dots$$

**Proof** We need only prove that  $\text{null } T^n = \text{null } T^{n+1}$ . Suppose this is not true. Then

$$\{0\} = \text{null } T^0 \subsetneq \text{null } T^1 \subsetneq \dots \subsetneq \text{null } T^n \subsetneq \text{null } T^{n+1},$$

At each of the strict inclusions in the chain above, the dimension increases by at least 1.

**Thus  $\dim \text{null } T^{n+1} \geq n + 1$ , a contradiction because a subspace of  $V$  cannot have a larger dimension than  $n$ . ■**



# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***$V$  is the direct sum of  $\text{null } T^{\dim V}$   
and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***$V$  is the direct sum of  $\text{null } T^{\dim V}$   
and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***$V$  is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

**Suppose**  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***$V$  is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

**Then**

$$T^n v = 0,$$

**and there exists  $u \in V$  such that**

$$T^n u = v.$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

$$T^{2n}u = T^n v$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

$$\begin{aligned} T^{2n}u &= T^n v \\ &= 0. \end{aligned}$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then

$$V = \text{null } T^n \oplus \text{range } T^n.$$

$$\begin{aligned} T^{2n}u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ .

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .

Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$



# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .  
Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

**Thus  $\text{null } T^n + \text{range } T^n$  is a direct sum.**

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

**$V$  is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$**

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
 $V = \text{null } T^n \oplus \text{range } T^n$ .

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .  
Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Thus  $\text{null } T^n + \text{range } T^n$  is a direct sum.

**Now**

$$\dim(\text{null } T^n \oplus \text{range } T^n)$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
 $V = \text{null } T^n \oplus \text{range } T^n$ .

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .  
Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Thus  $\text{null } T^n + \text{range } T^n$  is a direct sum.  
Now

$$\begin{aligned} \dim(\text{null } T^n \oplus \text{range } T^n) \\ = \dim \text{null } T^n + \dim \text{range } T^n \end{aligned}$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

***V is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$***

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
$$V = \text{null } T^n \oplus \text{range } T^n.$$

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .  
Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Thus  $\text{null } T^n + \text{range } T^n$  is a direct sum.  
Now

$$\begin{aligned} \dim(\text{null } T^n \oplus \text{range } T^n) &= \dim \text{null } T^n + \dim \text{range } T^n \\ &= \dim V. \end{aligned}$$

# The Direct Sum of $\text{null } T^{\dim V}$ and $\text{range } T^{\dim V}$

**$V$  is the direct sum of  $\text{null } T^{\dim V}$  and  $\text{range } T^{\dim V}$**

Suppose  $T \in \mathcal{L}(V)$ . Let  $n = \dim V$ . Then  
 $V = \text{null } T^n \oplus \text{range } T^n$ .

**Proof** First we show that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Suppose  $v \in (\text{null } T^n) \cap (\text{range } T^n)$ .  
Then

$$T^n v = 0,$$

and there exists  $u \in V$  such that

$$T^n u = v.$$

Applying  $T^n$  to both sides shows that

$$\begin{aligned} T^{2n} u &= T^n v \\ &= 0. \end{aligned}$$

Thus  $T^n u = 0$ . Thus  $v = T^n u = 0$ ,  
showing that

$$(\text{null } T^n) \cap (\text{range } T^n) = \{0\}.$$

Thus  $\text{null } T^n + \text{range } T^n$  is a direct sum.  
Now

$$\begin{aligned} \dim(\text{null } T^n \oplus \text{range } T^n) &= \dim \text{null } T^n + \dim \text{range } T^n \\ &= \dim V. \end{aligned}$$

The equation above implies that  
 $\text{null } T^n \oplus \text{range } T^n = V$ , as desired. ■

# Linear Algebra Done Right, by Sheldon Axler

Undergraduate Texts in Mathematics

UTM

Sheldon Axler


## Linear Algebra Done Right

*Third Edition*

*Apollonius's Identity*

$$a^2 + b^2 = \frac{1}{2}c^2 + 2d^2$$



 Springer